Paper / Subject Code: 23113 / Business Economics V

[Time: 3 Hours] S : [ Marks:100]

~ Please check whether you have got the right questlon paper

N.B: 1. All questions are compulsory.
2. Figures to the right indicate full marks

Q.1 A) Select the right answer and rewrite the statement (A’ny 10) : 10

1. Liberalisation Dolicy was announced on ' i ¥
a) January 1% 1991 b) April ISI 1991
c) July 24" 1991 d) None of the above

2. Social infrastructure refers to T N Ry
a) Agriculture b) Education
c) Real estate d) Manufacturing

3. is related to girls education?
a) Sarva Shiksha Abhiyan b) RUSA :
¢) Beti Padhao, Beti Bachao ~d)None. of the above

4. Farmers need short-term loans for '
a) purchase of seeds .-~ - -b) purchase of'i mputs .
¢) to meet consumptlon needs <o d) al] of the above

5. is the apex body of rural credlt :
a) Government of India b) Reserve Bank of Indla 5
S)NABARD . . . -d)ADB :

6. Farmers are not able to reallse bettcr ' ;ces because of" : .
a) lack of grading : ._B)Jack of market. knowled ge

¢) lack of storage: f‘acllities = d) all of: the above
7 Dlslnvestmeﬁt referstol 3
a) sale of goyemment ownershlp = a;b‘j purch‘as;;. 'of;shares
¢) sale of private securities . ) 'nmi‘e.of ’thé above
8. Industrial pollution control i isa . 55
a) State sublect LN AR o ~b) Cer;tral subject
L5 €) Concurrent suchct S - d) None of the above
19 SR &ectors are ldentiﬁed for promotion.
a) Tounsrn PRt t e -7 'b) Medical tourism
c) both a) ancl b) R “..d) none of the above

s l_O NarasunhamACommﬁtee reccunmended
S a) mtroducﬂon of modern: tqchnOIOgy b) consolidation of banks

g5 ) Ilberahzatlon or banlsmg secter- d) all of the above
-~ T1.Indian:money market is ﬁécrulatea by .
T HhORBE T e b) SBI
¢) SEBI ST d) LIC
3 < 12 Equity market is assocrated with ;
~ 7.5 a) Governmient Secumles b) private securities

c) issue of fresh chpltal d) sale of cld shares

B) State whether thc followmg statements are True or False (Any 10) 10
. NEP was launched by Mir. P.V. Narasimha Rao.
v 2_ Invest in India is to attract foreign investment.
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Paper / Subject Code: 23113 / Business Economics V

3. National Nutrition Mission (NNM) is created to ensure effective nutrition
interventions, ST AN
Central government allocation to agriculture declined in re‘c‘:én't_ yedrs.
Credit provisioning for agriculture is adequate in India. s
Agricultural marketing infrastructure is inadequate in India.
Disinvestment in India is mainly governed by deficit considerations.
National Green Tribunal is responsible to maintain the environment,
9. FDI flows into services sector are not satisfactory. LR

SN SRS

10. Indian banking sector is facing serious threat from non-péffcjnhi,ng assets, -

I'l. Indian money market is segmented. : Cr S
12. Indian insurance sector provides ouly life insurance.

Q.2 Answer any two of the following: 7 3 S &
a. What is liberalisation? Explain the different policy nieasures undertaken to
liberalise the Indian economy since 1991, S g g g
b. Explain the role of social infrastructure related to health. - e
¢. Explain any seven Sustainable Deveélopment Goals. e
Q3 Answer any two of the following: .~ & < - eSO T ROS
a. Explain the main features of National Agriculture Policy 2000,
b. Discuss the role of different financial institutions in-providing rural credit.
¢. Explain the policy initiatives to_.improve agricultural marketing in India.
Q4 Answer any two of the:following; AN RN >
a. Bring out the main features of Competition Act of 2002.
b. Explain the measures to-promote MSME scctorin recent years,
c. Exp__lfa'in-'?‘thcg\groyyt’h_ﬁffsari?iéﬁs-- sector since 1991, -~
Q.5 Answer :iny\two of :_t:hc:"fqnp‘\)vi;ﬁ‘g_.';:-_' S N 3
a. Explain the recent trends in ndian:banking sector.
b Explain the various money market instruments.
. ¢. Explain the role ofSEBJ in the development of capital market.
Q.6 . Writeshort notes on any four: _
© L.+ a- Globalisation - .
e Agricultura! Pricing strategies
d. Measures to control industrial pollution
e. Measures to develop.the insurance sector
£, "Structure of Indian capital market
ok kkk ok &k
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Paper / Subject Code: 23114 / Commerce V

[Time: 3 Hours] [Niarks: 100]
Please check whether you have got the right question paper.
N.B. 1. All questions are compulsory.
2. Figures to the right indicate full marks.

1. (A) Select the most appropriate answer from thezo'ptianTgi:\!éﬁ jbeldw (Any Ten) (10)

1) The concept rests on four pillars: target market, customer needs,
integrated marketing and profitability. SN RS N e
a) Product b) Production
¢) Marketing d) Holistic
2) With the help of marketers can analyze customer behavior.
a) Marketing Research b) Enterprise £
c) Productlon concept d) None of these
3) is one of the pattems of target market selection.
a) Full market coverage. - - ot b) Half market coveragc
¢) Middle market coverage = d) All of these :
4) is-an element of the Marketing Mix.
a) Profit PR b) Price
c) Investment ;. SEC) 'd)Plan:
5) G 1s the part of the product that cames mfonnatlon about the product and
the seller.. Pt N
a) Charmel . SR b) Prof' t-
c) Label -+ &7’ - Al d) Decision
6) SR whcn reglstered becomes a trademark.
a) Brand A o - “_b)Product
o c)Patent “"_ e ) ';_ ~d) Copyright
27y In A2 d:stnbullon system, two or more firms at the same level come together
~ -for marketing purpose L
- a) Horizontal - ' -7 b) Multi-Channel
c). Multl-LeveI e d) None of these
L 8) 5 includes tools like discounts, coupons, free samples etc. used to
- stimulate demand.” o
a) Public Re!atlons b) Sales Promotion
) Supply e d) Publicity
7 9y RS % isone of important steps in personal selling.
“2)Blurring: b) Prospecting
'-"\_c)'ﬁiRepdi‘ii'ﬁg O d) Mentoring
53718 Page 10of 6
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(B) State whether the following statements are true or. false. (Any Ten)

Paper / Subject Code: 23114 / Commerce V

10) Ethics is a branch of which is concérned with human conduct.

a) Physiology b) Psychology
¢) Philosophy d) Sociology -
1) marketing makes use of electronic devices such as computer
a) Digital b) Green - .- 2
¢) Rural d) Tradltlonal P
12) is/are main factors contributing to the success of brands in Indla
a)  Unique Selling Proposition b). Innovatzon
c) Consistency d) All of these :

1) Co-ordinating is a very important function of Marketmg

KL

2) Marketing Research is increasing the gap between the producers and consumers
3) Data warchousing is one of the techmques m Customer Relationship Management.

4) Brands should be repositioned frequently
5) Odd pricing is also called psycholOgl'""l pncmg
6) Label acts as a silent sale§man

_ _(;I 0)

7) Direct channel of dlstnbutlon mVOIves mtennedlanes to sell goods to f' nal consumers

8) Packaging helps in promotlon of; O N

9) Sales Planning involves setting sales t_arg_ets : -

10) The consumer organizations create awareness about consumer ri ghts.
11) Green Marketing contributes to the betterment of public health.

12) Over spending on promotion can lead to failure of brand.

Answer ANY TWO of the fo]lomug s =

a) How strateglc marketlng differs from trad ltlona] marketmg‘? Explain.
b) Discuss the various components of Marketm g Informatlon System.
¢). Explain in detall any two faetors mﬂuencmg consumer behaviour.

Answer ANY TWO of the. followmg
<a)  Describe the- management of dlﬁ'ereht stages of Product Life Cycle.

......

: b) What 1s Packagmg? Exp!am the essentnats of a good packaging.

Answar ANY TWO of thefollowmg

ey ..a) ‘Explain the different types of traditional Channels of Distribution.
... ‘b) ~What is Promohon" Explam the important elements of Promotion-mix?

"_c) DISCUSS the cornponents of Sales Management.
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Paper / Subject Code: 23114 / Commerce V

S.  Answer ANY TWO of the following: " i as)
a) Explain the competitive strategies for Market Leaders and Market Followers:
b) What are the features of Indian Rural Market?
c) Elaborate various careers in marketing in 21* century.

6.  Write short notes on ANY FOUR of the following: , ot : (20)
a) Importance of Marketing.
b) Bases of Market segmentation.
c) Strategies of product positionimg.
d) Integrated Marketing Communication.
e) Unethical practices in Marketing. .
f)  Factors contributing to success of a brand.
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Note: 1

¥aper / Subject Code: 23120 / Computer systems & Applications Paper -1
TN @ (O™ ST 9k 20 ERXCy |

) Al

Time: 2% Hours Total Marks: 75

I questions carry equai marks and are compulsory.

2) Figures to the right indicate maximum marks for a question,

Q1

54319

(A)

(B)

(©

(D)

(a)

(b)
()

(e)

4

(8)
(h)
(1)
(k)
Q)
(m)

()
(0)

(p)

()

Attempt any two sub-questions from (@), (b),(c) in MS-EXCEL (2)
(True/False)

The argument of a function can be a reference to another cell in the

spreadsheet.

To insert subtotal you must sort the list.

A worksheet may have either a header or footer, but not both,

Attempt any two sub-questions from (d), (e),(f) in MySQL (Multiple (2)
Choice)

To indicate that there should be 6 integers and 2 decimal positions we use
1)DECIMAL(8,2) 2)DECIMAL(6,2)  3)DECIMAL(2,6)  4)DECIMAL(2,8)

To save the transaction we use

1) Rollback 2) Save 3) Commit 4) Return

A Database contains one or more

1) Rows 2) Databacses 3) Columns 4) Tables

Attempt any six sub-questions from (g),(h),(i),(j),(k),(l),(m),(n),(o) (6)

in Data Communications, Networking and Internet. (True/False).

Telecommunication system is an example of distributed processing.
A network is used to share hardware and software.

(here is no way to handle collisions that eccurin a bus topology.
There are four types of twisted pair cables,

The Presentation layer is one of the upper layers in the OSI model.
OR- is'a Boolean operatar.

In the domain name system .com is used for business and commercial
organisation.

Email can be sent with attachments.

Spoofing refers to tricking or deceiving computer systems or other computer
users.

Attempt any five sub-questions from (P).(4),(r).(s),(8),(u),(v),(w) in Data (5
Communications, Networking and Internet. (Multiple Choice)

The transmission medium that carries the message is referred to as

the )

1) Protocol 2) gateway 3) Communication channel 4) Transport

A____metwork ¢pans a number of ¢ities and countries.

13 LAN 23 MAN 3)WAN 4) None of these
Page 1 0f5
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)

(W

V)

(w).

Q2. (A)
(a)
(b)

(8)

(c)
(d)
Q3. (A)

(a).

(b)

54319

In topology all the nodes are connected with a single cable.

1) Bus 2) Ring 3) Star 4) None of these

is the fastest Internet account.
1) ISDN account 2) Shell account 3)Dial-up account 4) Broadband account

Internet Explorer is referred to as ;

1) System Software 2) Utility Software 3) Browsers 4) Internet tools.

Full form of HTTP is Hyper Text

Protocal,

1) Transfer 2) Transport 3) Terminal 4) Transaction

The protocol to download email and store itin your computer ig ---------

1) POP 2)NMTP 3) FTP AHTTE

type of hackers break into the security system for non-harmful

reasons.
1) Grey hat 2)Blue hat 3)White hat 4) Black hat
Answer anyone sub-question from (a), (b) in Data Communications, (8)

Networking and Internet,
Write the four main characteristics of LAN and WAN.

erteshortnotes o"n,'i')‘" Tv,\'r‘/ié;,te’dyPair Ca'blue i) Fiber Optic Cable

Answer any one sub-question from {c), (d) in Data Communications, (7)
.Netwquingianq Ihte‘rn_et’. PR g ae Al
What isa protocol? Describe any three layers of TCP/IP protocol.

Whats hacking and explain any three types of hackers,

Answer any one sub-question from (a), (b) in MySQL (8)
Write MySQL statement to create a table called BEST having the columns
Consumer Number (CNO, integer, Primary key), Consumer Name (CNAME,
character with variable width 30 columns), Type of Connection (TYPE,
character with variable width 25 columns default value “INDUSTRIAL”) and
Billl’-Aniou"ht"(BILL, width of 9 including 2 decimals, positive),

Write MySQL statement to create a table called COMPANY having columns
Employee Number (EN, Integer, should be increased by 1 automatically),
Name of Employee (NAME, character with width 30 columns), Department
Name (DEPT; character with variable width 20 columns, should not be empty),
Gendet (GENDER, Boolean) and Provident Fund Amount (PF, 8 integer and 2
decimals).

Page 2 of 5
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raper / Subject Code: 23120 / Computer sxgiems & Applications Paper -1

(B) Answer anyone sub-question from (¢), (d) in MySQL (7)

(c) Explain the fellowing built-in functions in MySQL.
DLOWER() 2)LTRIM() 3) REVERSE() 4) DAY()

5)ABS()  6) TIME() 7) MONTHNAME()

(d)  There exists a table called PICNIC containing the columns Roll Number (RNO,
integer, Primary Key), Name (SNAME, character variable width 20), Date of
birth (DOB, Date), Gender (GENDER, character width 1) and Division
(DIVISION, character variable width 4).

Write MySQL statements for the following.
1) Display the structure of the table PICNIC,
i) Enter the following one row of data in this table.

RNO | SNAME | DOB GENDER | DIVISION
101 | REKHA | 2001-03-01 | F | A

1ii) Add a new column Mobile Number (MOB, integer) at the end of the table
PICNIC. :

iv) Delete the row where roll number of the student is 56.

v) Change the Date of Birth of student with roll number 11 to September 7.
1999.

vi) Change the size of the column SName to 30 columns.

vii} Rename the table PICNIC as FUNPICNIC.

(A) Answer any one sub-question from (@), (b) in MySQL (8)

(a)  There exists a table AMAZON having the columns Purchaser's Number (PNO,
integer), Purchaser's Name (PNAME, character), Receipt Number (RNO,
integer, primary key), Total Cost (TCOST, integer) and Date of Purchase
(PURDT, date).

Write MySQL statements for the following,

i) Display Purchaser’s name, Receipt Number and Total Cost from this table
where Date of Purchase is January 1, 2018.

i) Display Purchaser's Name and Total Cost where Total Cost is equal to the
maximum Total Cost,

ii) Display Date of Purchase, maximum and minimum Total Cost grouped by
‘Date of Purchase.

iv) Display Purchaser's Name, Date of Purchase and Total Cost where Total
Cost is more than the average Tatal Cost. ;

v) Display Purchaser's Name, Total Cost and “Discount” as 10% of Total Cost,

(b) There —exists a table INSTITUTE containing columns Roll Number

(RNO, integer, primary key), Name (SNAME, character), Age (AGE, integer),
- Fees (FEES, decimal (8, 2)). There exists another table PERFORMANCE

containing columns Roll Number (RNO, integer, primary key), Total marks
(TOTAL, integer).
Write MySQL statements for the following.
i) Display Name, Age and Total marks of a student with Roll Number 100 using
both the tables.
ii) Display Name, Age and Total marks of students getting Total Marks more
than or equal to 400 using both the tables.

Page 3 of 5
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iii) Display Roll number and Total marks of students who have scored more
than average Total Marks using table PERFCRMANCE. .

iv) Display Name and Fees of students who pay maximam Fees using table
INSTITUTE. o

(B) Answer any one sub-question from (©), (d) in MySQL

() There exist a table called RMALL containing columns Department Name
(DEPT, character), Department Manager Name (MNAME, cha racter}, Date of
Sale (DSALE, date), Sale Amount (SAMT, numeric) and Discount Amount
(DISCOUNT, numeric),
Write MySQL statements for the following:-
4) Display Department Name, Manager Name, total and average Sale Amount
grouped as per Department Manager,
ii) Display Department Name, Manager Name, minimum and maximum of the
Discount Amount of each Department.
iii) Display all the rows where the Sale Amount is equal to maximum Sale
Amount. ’
iv) Display Department Name, Manager Name, Sale Amount where Sale
Amount is between 45000 and 70000,

(d)  Thereexists a table STUDENT containing columns Roll Number (RNO, integer),
Students Name (SNAME, character), Age (AGE, integer), Mobile Number
(MOBILE, integer) and Fees Paid (FPAID, numeric).

Write MySQL queries for the following.

i) Display all the rows from this table where Student Name contains ‘R".

i) Display all the rows from this table where Age is more than 18.

ili) Display Roll Number, Student Name labeled as ‘Name of the Student’ and
Fees Paid from this table. )

iv) Display Roll Number, Student Name and Age from thig table where Fees
Paid is more than 7500. ]

v) Display all the rows from this table inthe ascending nrder nf Rall Met .
vi) Display all the rows from this tabie where Age is divisible by 5.

vii) Display Students Name, Mobile Number and Fees Paid from this table.

(A) Apsy‘yexjanyond sub-question from (@), (b) in MS-EXCEL
(a) The following data has been entered in a worksheet.

| F G
COMP | TOTAL

AVERAGE

152 | AVINASH 80 [92 99 [
176 | DIANA 60 |64 |80 a7 ]
80 ’

243 SAPNA 45 38 65

2
3

4

51362 |KARAN |69 |76 172 90

689 |ANU  |og 90 |98 100

7

8

9

127 | SAMPATH | 87 | g5 90 98 L
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ADI37F2C2A7C36A8ES 15E2853A569AEF

(7



Lapel / Suuject Loue: 29120/ Computer systems & Applications Paper -I
P uuv) p

(b)
Q5. (B)

(©

()

54319

Write the steps to obtain

1) Total Marks in column G
i) Average of best three subjects in,column H.

iii) Maximum average marks in cel] HO.

For the following spreadsheet write the steps to obtain the subtotals of sales

city wise,
A B C
1 NAME CITY .| SALES
2 NIRA]J MUMBAI 78000
3 KARTHIK PUNE 60000
4 JAY MUMBAI 100000
5 RAVPREET NAGPUR 68000
6 RAM NAGPUR 62000 |
7 DHEERA] PUNE 77000 ]
8 ANUP MUMBAI 75000 |
Answer anyone sub-question from (c), (d) in MS-EXCEL
For the following spreadsheet write the steps to obtain the Pivot table
showing total salary and lowest salary department wise in column G. ‘
A B C D |'
1 NAME AGE DEPT SALARY _J
2 | VINAYAK 47 A/C 48000 |
3 NAVIN 28 PUR 32000 .I
4 PADMA 25 ADMIN 25000 4!
5 | MOHAN laa  Trir se00n |
6 | PETER | 46 | ADMIN [ 46000 N
7 | MUSCAN 29 A/C 30000 |'
8 BHAVYA 32 PUR 36000 |

Explain the following built in functions in MS-EXCEL

7.COUNT()

1L.FV() 2. PPMT()
S.INT() 6. SQRT()
Page 5 of 5
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Paper / Subject Code: 23107 / Financial Accounting and Auditing VIII --Cost Accounting

[3 Hours] [Total Marks: 100}

Please check whether you have got the right question )pap\e,r-.
N.B: 1. All questions are compulsory.
2. Figures to the right indicate full marks allotted to the question.
3. Working note wherever necessary should form part of your answer.
4. Calculate figures up to two decimal points wherever required.

1. (a) Select the most appropriate option and rewrite the full sentence (Any Ten) 10
1) is the portiofi of total cost which cannot beidentified and direct to the
production cost. ;
o Indirect cost " e Direct cost
¢ Fixed cost ' Variable cost
2) Gold in Jewellery is the example ¢ of ;

e Basic Raw material ¢ Raw material
e Semi finished goods = -~ © * e Finished goods
3) The method which doesn’ t dlfferemlate between efficient and inefficient worker is

Time Rate -
Rowan Plan:

Piece Rate
Halscy Plan

4) After receiving material mspectmn note, the receiving official will prepare

“Goods Received Note
¢ None of these

e Material Requisition
e Receipt of Material
5) Salary of works manager is a

e Selling overhead . Office overheads
-Factory overheacls e o 06 SPRmE cost
6) The statutory provision regarding deduction from payroll pertain to

e Tax deductionatsource ~ ~ ‘e Professional Tax
e Provident fund “o% All of the above
7)  Under Time Rate System, the wages is equal to
Labour hours x Labour Hour Rate
“Piece comipleted x Piece Rate”
Actual output x Actual productive hours
None of these
8) Holiday pay is apportioned on the basis of

P
e 8 e

¢ No. of workers e Direct wages
_ o No. of workers-and Direct wages o None of these
9) - Interest on Bank Deposit is
' Credited in Financial Profit and Loss A/C
Credited in Costing Profit and Loss A/C
Debited in Financial Profit and Loss A/C
Debited in Costing Profit and Loss A/C

53641 Page 1 0f 13
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Paper / Subject Code: 23107 / Financial Accounting and Auditing VIII - Cost Acébuntiﬁg '._"h?

10) is not included in the administrative cost.
* Salaries of office staff ‘ ¢ Telephone charge.
* _ Office expenses * Salaries of foremen .

I1) In Reconciliation statement, Closing stock over valued i F{in‘aiglc‘ial'Accpuht is
® Added to financial Profit DG
* Deducted from financial loss
* Added to costing profit
* Deducted from costing profit
12) Production manager is an example of

* Production cost Centre e :Personal__cc')st centre -
* Impersonal cost Centre LIS Scrvice'c()st__Centvre
1. (b) State Whether the following statements are true or false (Any Ten) 10

1) Cost Accounting is used only in Manufacturing industry.

2) Earning under Halsey and Rowan plan are same. _

3) Under Perpetual inventory_cgntrol, stock is verified periodically.
4) Interest on capital is imputedcost, . . :

3)  FIFO method is usually suitable in case of perishable material.
6) Power failure is an abnormal ldle time, =~ = - 3 '

7) Drawing Office salaries is an item of Factory Overheads.

8) Goods received Note is prepared by Storekeeper. '

9) Over absorption of overheads increases costing Profits.

10) Transfer to general reserve is an item of Cost Accounts.

11) Bin Card is same as Stores Ledger. s e

12) Loss on Sale of Fixed assets is included in Cost for-caleulating profit,

2, SAM Manuifact_uri_ng Company_ __g_ives-fol-lowing particulars for the year 2017, 15
: Particulars T
Material : ' 5,00,000
Direct Wages ; 3,00,000
Administrative Overheads (fixed) ST e 2,00,000
- |'Sales ) ; : 24,00,000
.| Profit ' 5,00,000
3 Factory Overheads: ;

;| Fixed g ' 2,00,000
‘Variable : 4,00,000

| Selling and Distribution overheads:
Fixed 1,20,000
Variable 1,80,000

~The Company has worked to its maximum capacity of 20,000 Units during 2017.
~ The management has decided to increase production capacity to 30,000 Units for the year
2018 and jt estimated that:-
ey “There will be allround rise in ajl variable expenditure by 10%
" 2. There will bé increase of 20% in all fixed overheads
3. There will be no need to change the selling price for the year 2018.

.Prepare a statement showing Total as well as Unit Cost and profit for 2017.

53641 ) X Page 2 of 13
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Paper / Subject Code: 23107 / Financial Accounting and Auditing VIII - Cost Accounting

Also prepare a statement showing estimated profit for 2018 taking into consideration the
changes in 2018.

OR °

53641 -

maintained for the year ended 3 1% March, 2018, From the following information:
1. Prepare Cost Sheet for the year ended 31* March 2018
2. Prepare Reconciliation Statement for the above period.

Particulars ‘As per Financial | As per Costing
Records (%) Records (T)
Direct Material Consumed 1,58,750 | 1,58,750
| Direct Wages 1,27,500 | 1,26,875
Factory Overheads 61,250 | 20% of Prime Cost
Administrative Overheads 1,60,000 | * 5 Per Unit of
production
Preliminary expenses written off 4,625 -
Dividend received 4,400 -
| Interest received on fixed deposit 5,950 -
| Selling and Distribution O/H 2,34,625 | 8 Per Unit Sold
- | Reserve for Bad Debts 475 -
| Closing stock of Finished goods (1250 units) 22,500 | ?
Closing stock (WIP) 5,500 | 5250
Sales (1,30,000 units) 7,50,000 | 7,50,000

‘In Cost Accounts, Closing stock of Finished Goods is valued at Cost of Production. The

profit as per financial records for the year ended 3 13t March 2018 was ¥ 41,125/-

Page 3 of 13
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2. (@) Calculate the earning of Sky and Blue From the following Particulars for a month and 08
allocate the labour cost of each job R, S and T:
Particulars Sky Blue
Basic Wages T 200 7 320
Dearness Allowance 50% 50%
Contribution to Employee State Insurance (On Basic wages) 2% 2%
Contribution to Provident Found (On Basic Wages) - 8% 8%
Overtime (Hours) : 10]-
The normal working hours for the month are 400. Overtime is paid at double the total of
normal wages and dearness allowance. Employer’s and Employee’s Contribution to State
Insurance and Provident Fund are at equal rates. The Two workers were employed on
Job R, S and T in the following proportions:
Worker Jobs
R e T
Sky 40% 30% 30%
Blue 50% 20% 30%
Overtime was done on Job S at the request of customers.
(b) Calculate the earnings of a worker using Halsey and Rowan Plan based on the following 07
information. :
Time allowed to complete the job 180 hours
Time taken to complete the job 144 hours
Rate of Wages per hour - T 20
Dearness allowances is T 40 per day of eight hours. Z5
BAT Ltd. Commenced Business on- 1% April 2017, Cost and Financial records are 15
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Paper / Subject Code: 23107/ Financial Acc.ounting and-}iuditing VIII - Cost Acc_vount'ing'

OR
3. (@ Tomco Ltd. Manufactures a special product called “A” and provides you the following 08
information:
Annual Demand 2,000 Units .~
Cost per unit BT S T
Other holding cost 15%" -
Pilferage while holding inventory 10%
Order Processing cost for each order T 25
Inspection cost per order T10
Follow up cost of each order ¥ 15
Calculate:-

i) Economic order quantity (use for_mula,m*e’thod) ;
i)  Total ordering and carrying cost at EOQ level

3. (b) From the following information calculate Material TumOvel_' Ratio and express it in 07
number of Days. You are required to consider 365 days in a year,

Particulars Materials A ¥ | Materials B = ‘Materials Cz
Opening Stock 13,000 - 14,000 [ 77.000
Purchases 94,000 | . 1,76,000: - | . 2,96,000
Closing Stock o7 57,000 ¢ ©.2°10,000 [ = = 13,000
4, GUM Ltd. has three_"Produeti'on Depart.ment:s XY, Z and Two Servi.(':e departments S1 15

and S2. The following details are extracted from the books of accounts in respect of
indirect expenses incurred for the month ended March, 2018

Particulars : T
Supervision + . - : ; 10,000
Insurance on stock : 12,000
Indirect wages =~ . o T A 9,000
Lighting - - ) : F X 1,200
Rent and rates 12,000
ElectricPower . SN S 6,000
Depreciation = - : 24,000
Sundry Expenses : o 7,800
Following further details are collected for distribution of the above Costs:
v Particulars Departments
: O T s X Y Z S1 S2
.- | Value of Machinery - =~ (X) | 60,000 50,000 | 80,000 10,000 -
| Horsepower of Machines = . 40 45 60 5 -
| Light Points MNos). 20 30 40 20 10
Floor Space (sq. Meters) 150 200 250 100 50
Direct Wages (¥) | 30,000 20,000 40,000 | 4,000 | 6,000
No. of workers 20 30 30 10 10
| Value of stock P 4,000 3,000 | 2,000] 2,000 1,000
- Prepare statement showing Primary Distribution of Overheads.
: OR
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Paper / Subject Code: 23107 / Financial Accounting and Auditing VIII - Cost Accounting

4. (a) Calculate the Machine Hour Rate from the following in formation: 08
Cost of Machine : Z 8;00,000
Cost of Installation Z 2,00,000
Scrap value Z 2,00,000
Effective life of the machine 10 years
Rent and rates for a quarter for the shop Z 30,000
General lighting Expenses 2,000 per month
Shop Supervisor’s Salary Z 60,000 per quarter
[nsurance premium for a Machine 'Z.6,000 per annum e
Estimated repairs Z, 10,000 per annum .
Power 2 units per hour o~ |@T 5 per 10 units
Estimated working hours :2,000 per annum

The machine occupies 1/4 th of the total area of the shop. The supervisor is expected to
devote 1/6 of his time for supervising the machine.

4. (b) A Manufacturer supplies you the following information: S0 07
Consumption of Raw Material Half Yearly 15,000 kg
Cost of placing an order S |1T44
Cost of Raw Material | T 4 perkg.
Follow up cost of each order ' T 4 perkg.

Carrying cost is 8% of average inventory
Your are required to ascertain the Economic Order Quantity using Formula Method
and also state the number of orders to be placed in the year.

5. (a) From the following data of Textile factory machine room, compute an hourly Machine 08
Rate assuming that the machine room will work on 90% capacity throughout the year &
that a breakdown of 10% is reasonable. There are three days holiday at Deepawali, 2 days
at holi & 2 days at Chrlstmas exclusive of Sundays. The factory works 7 hours a day &
5 hours on Saturday.

Expenses per annum ¥
Power : : 4,68,000
Salaries to Foreman 1,80,000
Lubricating oil : 9,900
Light 96,000
Depreciation : 1,17,840
= Repairs to machine 2,16,900

Number of machines (each of same type) — 50

5. (b) The standard time fixed for a job is 40 hours and the wage rate is T 40 per hour. The 07

worker completed the job in 32 hours. Calculate the wages and effective rate of
earnings per hour as per Halsey Premium plan and Rowan Premium plan.
OR
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Paper / Sl;bject Code:-li'3107 / Financial Accounting and Auditing VIII - Cost Accounting

5. The following are the receipts and issues of coal in factory during March 2018 15
| Date Transactions .
01-Mar Opening Stock 200 Tons = 460 per Ton
02-Mar Issued 140 Tons
06-Mar Purchased 350 Tons @ 450 per Ton . _
08-Mar - Issued 80 Tons R
09-Mar Issued 210 Tons
16-Mar Condemned due to deterioration all quantity
20-Mar Purchased 400 Tons @ = 470 per Ton :
24-Mar Issued 200 Tons Ry
27-Mar Purchased 100 Tons @ = 480 per Ton
29-Mar Issued 150 Tons : O M P R _
31-Mar Excess found is stock 50 tons due to wrong weighing durin the month,

The Maximum Level fixed is 400 Tons, .the Minimum Level 75 Tons and the
Reordering level is 100 Tons.

Prepare Store Ledger Account under FIFO Method and Weighted Average Method.

6. (a) Explain the classification of Cost on the basis of f_unction& e TR 10

6. (b) What is meant by Labour Turnover, Explain its causes. v 10
£ _ SORY PR Sy

6. Write short notes on any four of the following:- - = - it 20

Objectives of Cost Accounting S5y

Advantages of Material Control

Tabular method of EOQ,

Sel_l_in_g_'Overﬁeél‘ds_

Gantt Task Bonus Plan

Purpose of Recongiliation

O Wrighit 1
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Paper / Subject Code: 23115 / Direct & Indirect Taxation Paper -1

( 3 Hours) ( Total Marks :-100 )

N.B.: (1) All questions are compulsory.
(2) Figures to the right indicate maximum marks.
(5) Working should form part of the main an-§wc’;rf_

1. (A) Choose the correct option and rewrite the statementb (Any Ten) (10)
(1) Income Tax Act extends to :
« Whole of India
+ India and Pakistan
« Whole of Maharashtra

(2) Income Taxis atax on N SRR
» Goods . S‘égiricgs 2 o0& E 3 v Income

(3) The Legal status of Ms HlmaDas Indlan sprml runner is.

* an 1nd1v1dua1_\ : . __abod_y of 1nci_1-V1duaI$ ] asportsman
(4) Personal 24. carat gold mangalsutra is. asset. .
. leed e

Gapltal ; .:' S _Current

(5) Every assesse '“‘s apersonﬁnd
. Every‘ pB[SQI'LIS also an. assessee

’ Every perso,n need rlot be an. assessee

e An mdmdual is always anassxassee TR

SL6Y _'Total mcome of a persun 1s«ﬁetcnnmed on the basis of his .
- foizenshlp WS Resﬂentral Status « Marital Status
o £ _1ﬁ case of capital assels: aoquiredon 01-04-1971, Fair Market Value of this capital
0 assetis dete::mmed ason
e 01-04-2001 e 01-04- 1981 * 01-04-1971
S ek g)Deducnonun‘der S"ep‘tit}rfSOD inrespect of medical insurance premium is allowed
= 7.« Anindividual -
| « Any assessee
* « Anindividual and HUF

CTERI LAY TURN OVER
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£
3
]

Paper / Subject Code: 231 ISTff-vairect & Indirect Taxation Paper - 1

2 e

Share of profit received by a partner of partnership firm is :
* Fully exempt ¢ Fully taxable © ~Partly taxable

(10) Uncommuted pension received by a govepninent émplpyee is

* Exempt * Taxable * 1/3 exempt

(11) The deduction under Section 80Eis a'l_lov;red for payment of interest to the extent

of . R
* 25,000 * ¥10,000 *_any amount

(12) Award received from the go_vérf}i_néngjs_‘ >

* Taxable e Exempt RS Partly eﬁempt

L (B) Re-write following full_s’éé‘if%jmégiarfa'i_t‘rl,fé@ﬁetfléfit‘is True or False (Any Ten):  (10)

AT S

(1
(2)

3)
4
()
(6)

from salaries.

-

(8)

(

RON

10)

Ex-gratia recei\{_ééf fmm empl deﬁ"is-g_gx'aﬁl_e' as %1 salary.

When a prop;ﬁfjg is oceupied by-fhéfo“m__er himself that property is called let-out
house property. <" = o FTE RS E A R
Expense_s-’Qp‘l‘r;i(;g-l_fé:sii\{a‘l)- naV'ar‘s_itri,pi_;j ais allowable business expenditure.
Previous year can bé more than-12 |

There are total five heads of income; - :
Salary received by-a Member of Parliament is taxable under the head Income

C Ost;i'nﬂ_\ati'pfl_ mdex 15 :appli cable for fr_z'insf_er expenses.

The status Qf-Iydfénd_!‘i’gin;__i_ndi'vi'duglfﬁ__ always a resident,

Ground Ter‘f_t fé.'-t?ax%;ble under the ]iéé.cfﬁinéome from house property.

Gift received by 4 doctor from his patient is taxable under the head income from

& @ & profession. s _ A
SESEUY Interest onlncomaTaxreﬁdes taxable under the head ingome from other sources.
Q 12)Any surn receiyed underkey-man insurance policy is taxable.

2. Mr. A]ph_'ijit, who is physically disabled to the extent of 55%, works in a private com pany. (15)
" He has provided the follow
S 30 March, 2018, ¢ 5
S (1) Basic '_S-al_axj__z.-%,_ﬁl{):;ﬁOO per month.
& > Sy Dgagp'es,s_ﬁl_l('qwance Z16,000 per month.
R ~(3)" House Rerit Allowance | 0,000 per month.

ng particulars of his income for the previous year ended on

SN - [Exempt (under section 10) 6,000 per month. ]

53518
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Paper / Subject Code: 23115 / Direct & Indirest Taxation Paper'- T

(4) Travelling Allowance £50,000.
(Amount actually spent on travelling 38,000)
(5) He was provided with the accommodation by his employer, the perquisite value
of which was £35,000.
(6) Bonus declared by employer during the year was ¥15,000.
(7) Profession tax ¥2,500. ‘
(8) Employee's contribution to Prowdem Funcl z48,000.
He also received the following :
(9) Interest on fixed deposits with Bank of India 44,000.
(10) Interest on fixed deposits with Post Office 310,000.
(11) Dividend from co-operative credit society. ?6 500.
(12) Gift from his sister £51,000. =~ - _
During the year, he paid 32,000 as premium on his Life Insurance Policy.
Compute his taxable income for the Assessment Year 201819,
TS OR X r TS
Mr. Kedar was a Maharashtra State Goven"lmeﬁt_ehlpldyée, Wh'o.retired on 30" November, (15)
2017. Thereafter, he joined a private company from 1% January, 2018.
He has provided th'e- foll_owing partiéuléll-‘;s.for the previous year ended on 31* March,
(A) me Maharashtra State Government
Basic Salary @?‘30 00() per-month.
Dearness Allowance @ 10,000 per month.
Gratuity received on réti'rement?&i 00,000.
\\Commutatlon of-Pension received on retirement ¥2,20,000.
‘Pension received @% 8,000 permonth.
\Professzon tax. deducted @?200 per month.
Employee s contribution to prov1dent fund @< 5,000 per month.
Salary @%25 000 per mﬂnth
- Entertainment Allowance @z 2,200 per month.
(C) Other. Informatlon
Interest received on company debentures ¥60,000.
£ Dmdend recewed from Indian Companies ¥32,000.
. Interestreceived on 8% Taxable RBI Bonds 220,000.
Durlng the year, he'deposited 250,000 in his PPF account and paid 22,000 towards
medlcal 1nsurance premlum for himself and his spouse.
Compute hlS taxable income for the Assessment Year 2018-19.

TURN OVER
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Paper / Subject Code: 23115/ virect & Indirect Taxation Paper -1

Mr. Sanghameetra provides the following information for the previous year ended (1 5)
31* March, 2018. You are required to compute his net taxable i Income for Assessment
Year 2018-19 ;

Profit and Loss A/c for the year ended 31 March; 2018

Particulars T Partlculars g
To Printing & Stationery 20,000 | By Gross Proft 8,50,000
| To General expenses 25,000 | By Income Tax Refund 8,000
To Interest on capital 55,000 | By Di\_r-idén_d fromU.T] . - 35,000
To GST Penalty 23,000 | By Interest on Saving Bank A/c 5,000
To Income Tax 49,000 | By Amount received from
To Office Rent 26,000 | LIC formatured insured policy 15,000
To Depreciation 30,000 o
To Salaries 1,20,000
KAdvertising -~ 9,001
To Net Profit - .:5,55,999
 Total 9_,1-3,0‘00' Total 9,13,000

Additional Informatlon 6T Ay

Salaries mcludes ?55 500 for medical tﬁ;atment of Mr. Sanghameetra's dependent
brother, who is: person w1th severe physwal disability (81%).
The following is the Recelpts and Paymeihts;Acicount of Advocate Happy Salve for (15)
the year ended 31* March, 2018: o

53518

47BC573C4436FD8559C6A S4FF594] 0AQ

: Recelpt and Payment Alc

R Recelpts R Payments ?

To Balance b/d 4,00,000 By Office Expenses 8,00,000
"_To_Fecs from clients - : ; . 25',_0_0;.000 By Stamp paper & court fees 3,00,000
“ToFee for ﬁghti'n'g India"s caseat ' 1 | By Salary to staff 15,00,000

| International Court SES By Office Rent 4,00,000

To Income for attendmg court hwrmg 7,00,000 | By Conveyance 1,00,000

| ToGiftreceived from client. 5,55,555 | By Drawings 6,00,000

2 To Dividend from foreign’ company 10,000 | By Baiance c/d 4,77,556
To Rent from open plot of land 12,000

3 Total |41,77,556 Total |41,77,556

TURN OVER



Paper / Subject Code: 23115 / Direct & Indire¢t Taxation Paper-1 !

(4) Travelling Allowance ¥50,000.
(Amount actually spent on travelling 38,000)
(5) He was provided with the accommodation by his employer, the perquisite vaiue
of which was £35,000.
(6) Bonus declared by employer during the year was 71 5,000.
(7) Profession tax ¥2,500. 3
(8) Employee's contribution to Prov:dent}und ?48 000
He also received the following :
(9) Interest on fixed deposits with Bank of India ¥44,000.
(10) Interest on fixed deposits with Post Ofﬁce %10,000.
(11) Dividend from co-operative cr edlt soeiety ?6 500
(12) Gift from his sister £51,000. \ Y
During the year, he paid 232,000 as premgum on h1s the [nsurance Policy.
Compute his taxable income for the Assessment Year 20 l 8 9 &~
- OR - S
Mr. Kedar was a Mahara‘shi:ra'Stdte Government employee whoretired on 30" November, (15)
2017. Thereafter, he joined a private company from 1*January, 2018.
He has prowded the tollqwmg partlcuiars forthe prewous year ended on 315 March,
2018. : :
(A) me Mah-arashtra State Government
Basic Salary @?30 000 per month,, :
Dearness Allowance @7 10,000 per month.
Gratuity received on retirement 33,00, 000
Commutation of Pension received .or_l_.__retlrem ent ¥2,20,000.
Pénsibﬁ're‘éeivéd @% 8,000 permonth.
Professmn tax deducted @z 200 per month.
Empioyee scontr‘ibutmn to prowdent fund @ 5,000 per month.
(B) From anate Company
Salary @?25 000 permonth
Entertamment Allowance @ 2,200 per month.
(C) Other Informanon
~Interést received om company debentures 60,000.
* Div 1den¢rece1vcd from Indian Companies 32,000.
Interestrecmved on 8% Taxable RBI Bonds ¥20,000.
Durmg the year, he deposited 250,000 in his PPF account and paid 222,000 towards
medlcal insurance premium for himself and his spouse.
J Cqmpute his taxable income for the Assessment Year 2018-19.
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Paper / Subject Code: 23115/ Jirect & Indirect Taxation Paper -1

Mr. Sanghameetra provides the following information for the previous year ended (15)
31 March, 2018. You are required to compute his net taxable income for Assessment
Year 2018-19 ;

Profit and Loss A/e for the year ended 31* March; 2018

Particulars T Particulars T
To Printing & Stationery 20,000 | By Gross P['O‘](:lt 8,50,000
To General expenses 25,000 | By Income Tax Refund 8,000
To Interest on capital 55,000 | By Dividend from U.TJ _ 35,000
To GST Penalty 23,000 | By Interest on Saving Bank A/c 5,000
To Income Tax 49,000 By Amount received from i
To Office Rent 26,000 | LIC formatured insured policy 15,000
To Depreciation 30,000 ]
[ To Salaries 1,20,000
ToAdvertising 9,001
To Net Profit 1.5,55,999
~ Total | 9,13,000 Total 9,13,000

Additional Informatmn s
Salaries 1ncludes ?SS 500 for medical n‘eatment of Mr. Sanghameetra's dependent

brother, who is pcrson w1th severe phys;cal dlsabrllty (81%).

The following is the"Réceipts and PaymentS-.Account of Advocate Happy Salve for (15)

the year ended 31 March, 2018: 2

Recelpt and Payment Ale

RN

Recelpts xS F Payments T

- To Balance b/d" . .\4,0'0",-000 By Office Expenses 8,00,000
% PTo Fees from clients - _' _ 25,00,000 By Stamp paper & court fees 3,00,000
“{ ToFee for fighting India's case at ' 1 (By Salary to staff 15,00,000
| International Court ' By Office Rent 4,00,000
To Income for attendmg court heanng 7,00,000 | By Conveyance 1,00,000
_ 'ToGlﬁrecelvedfrom client. 5,55,555 By Drawings 6,00,000
3 | ToDividend from foreign company 10,000 | By Balance ¢/d 4,77,556

/| To Rent from open plot of land 12,000
3 Total |41,77,556 Total |41,77,556
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Paper / Subject Code: 23115/ Direct & Indirect Taxation Paper - 1

Additional Informations : : _
(1) Drawings includes 99,000 towards pension fund (U/S 80CCC) of LIC and

¥92,000 for medical treatment expenditure of his son who is physically disabled
to the extent of 51%.

You are required to compute his net taxable income for the Assessment Year 2018-19.

4. M. Aniket furnishes you the following partiél'llars of income earned by him during (15)

the previous year ended on 31* March, 2018.
Compute his Gross Total Income for the Assessment Year 201 8-19 assuming that he is :

. (1) Resident and Ordinarily Resident: .~
(2) Resident but not Ordinarily _Resuie_nt.

(3) Non Resldent

S.No. - Parﬁt:u'l‘ars. o T
(1) |Income from business in Delhi, controlled from London 2,00,000
(2) |Interest on Debcniures of Indlan Company recelved in-Japan | 2,20,000
(3) [Rent from property in France received in Mumbai 2,40,000
(4) |Interest on Bank Accounts in Dubai 1,20,000
(5) |Income ﬁ'om-égriétilture in Sri Lanka 1,40,000
(6) |Income from business in Nepal c;ontrolled from India 1,60,000
(7) |Salary. eamed and received in Smgapore 7 1,80,000
(8) |Past untaxed proﬁts eamed inU. K brought to India during | 2,60,000

| the previous year. '

4. M Pratham is an Indian cmzen He visits various countries for the purpose of his (15)

OR

busmess Followmg are the detaﬂs of his visits out of India :

g NameofCountry | Date of Departure | Date of Arrival
R e ‘1. from India in India
Germany(for frsttune) 01.07.2015 01.03.2017
France 10.04.2017 28.04.2017
UK. 15.05.2017 01.06.2017
Australia 28.06.2017 15.07.2017
| Singapore - 01.09.2017 17.09.2017
Sy chas r 01.02.2018 22.02.2018

N Défé‘fmirie his residential status for the Assessment Year 2018-19.

47BC573C4436FD8559C6ASAFFS9410A0
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Paper / Subject Code: 23115 / Direct & Indirect Taxation Paper -1

6 e

3. Mr. Mahesh is the owner of two houses. He provides you the information of these (15)
two houses for the year ended on 31¢ March, 2018 as under - '

(a) First house is let-out with municipal valuation 23,00,000 p.a. and actual rent
¥30,000 p.m. municipal tax paid @10% on municipal valuation. Inferest on
housing loan paid 250,000 and house was vacant for 2 months.

(b) Second hoiisé is self occupied property with municipal valuation <1,00,000,
municipal tax paid 10,000 and interest on housi'ng loan paid 745,000,

(¢) Healsoreceived following income during year

Interest on deposit with com panies. T 1,60,000
Dividend from Bank of India % 40,000
Interest on Saving Bank Accounts .0 T 15,000
Dividend from co-operativebank T 10,000

(d) Healso deposited =1,20,000 in P.P.F. during the Previous Year.
You are required to calculate taxable income for the Assessment Year 2018-19.

5. Mz Dinesh provides.th__e following particulars of assets transferred by him during the (15)
previous year ending 3 1% March, 20 I8. You are required to compute his Income from
Capital Gains cha'rge__a_i:;lemtd tax for Assessment Year 2018-19.

A residential house in Indore was purchased on 12" December, 1998 at a cost
of ¥18,00,000. Fair Market Value of the Tesidential house on 19 April, 200] was
%25,00,000: 7 >0 S0 LS S e s ST R

The costof imprqvement_-incur'red__ by him was as follows :

~__Financial Year __Amount(z)
o 199902000 | ~2,00,000
S 20032004 P 327,000
U 2009-2010 3,70,000
- 2014 -2015 8.40,000

He sold the above house on 19" March, 2018 for %1,50,00,000.
\ v He incurred transfer expenses of £3,00,000 on the sale transaction,
MEES ;“"I-‘I'“é:'.ﬁ_gf:éhfaéé\d*a-"-'t;é‘w-f\'z\:we-;c_.jdéntial house in Bhopal for 40,00,000 on 28 March,

R MG
S e purchased 3 years bonds issued by Rural Electrification Corporation (REC)
- for %12,00,000 on 29% March, 2018,

IR S A TURN OVER
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6. (a)

0.

" Paper/ Sub:jéct Code: 23115/ Direct & Ii;direct Taxation Paper - I

Cost Inflation Index are as follows :

Financial Year Cost Inflation Index
2001 - 2002 100
2003 - 2004 109
2009 - 2010 148
2014 - 2015 240
2017 - 2018 212

Explain the term Income with suitable examples.
6. (b) Explain the deductions under Income from other sources.

OR

Write short notes on any four of the following :

(1) Assessment Year and Previous Year.

(ii) Taxable perquisites.
(1ii) Listof assets which are not capital assets.
(iv) Allowable business expenditure.

(v) Deductions under Income from house property.
(vi) Deduction under section 80DD.

53518
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raper / Subject Code: 23116 / Export Marketing Paper - | /7 4 iy

[ 3 Hours ] ) [ Total Marks : 100 |
Please check whether you have got the right question paper.
N.B: 1. All questions are compulsery.
2. Figures to the right indicate full marks.

a) Select the most appropriate answer from the options given below (Any Ten) : (10)
1) Export marketing is important for countries because it leads to
»  Peaceful international relations
*  Spread effect
* Earning Foreign Exchange
« All of the above .
2)  Risk in export marketing due to civil disturbances is known as
¢ Commercial Risk * Political Risk
+ Legal Risk * Cargo Risk
3) contributes a major share of foreign exchange in the total Indjan
service exports.

* Business Services *  Software Services
* Transportation Services *  None of the above
4) raises the prices of imported goods thereby discouraging imports.
* Non-tariff barriers *  Tariff Barriers
* International forums * None of the above
5)  GATT was replaced by in 1995,
« EU « WTO
+  WHO » IMF

6)  A0A, as per WTO stands for
. Agreemeni on Allied sectors
* Agreement on Agriculture
*  Association on Agriculture
* All of the above
7)  MEIS is expected to support sector with special emphasis on
improving the ease of doing business.

*  Service : *  Manufacturing
*  Allied * Agriculture
8)  DGFT grants to Indian importers and exporters.
+ RCMC « IEC
* Duty drawback *  Blanket permit
9}  Five star export house needs to have minimum export performance of USS
million.
+ 1,000 + 2,000
2,500 * 3,000

10)  ASIDE scheme provides benefits for
*  Import of capital goods
* Infrastructure development 1o states
*  Refund of excise duty
* . Import of raw materials in bulk

53455 Page 1 of 6
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Paper/ Subjeci Code: 23116 / Export M:rketing Paper - I

1) enjoys the status of a deemed university.

o IIFT « EPC
-  FEO « ITPO
12)  FICCI was established on the advice 8f in 1927 in India.
»  Pandit Jawaharlal Nehru » Mahatma Gandhi
e Mr.J.R.D. Tata » Lokmanya Tilak
1. b) State whether the following statements are True or False (Any Ten) : (10

-1)  Export marketing helps in spreading risk of business.
2)  Export marketing is influenced by regional economic groupings of the world.
.3) India is one of the largest exporters of gems and jewellery sector.
‘4)  WTO agreements have no impact on export trade of India.
“5)  India is not a member of SAARC.
6)  Global market research does not help exporters.
-7)  MEIS & SEIS are associated with India’s foreign trade policy of 2013-20.
8)  Onions are included under the canalised list of exports.
-9)  AEZ is a specific geographic region reserved to establish agriculture based
processing industries.
-10) MDA supplies imported raw materials to all exporters.
11)  IIP acts as a publicity wing of the Indian government.

12)  IGST is collected only by the state governments

2. Answer any two of the following : (15)
a)  What is export marketing? Discuss the features of export marketing.
b)  Explain the factors influencing export marketing.

Y Pynlain brieflv reaion wice Indin’c evnart cinns 7018

3. Answer any two of the f‘ollowing : (15)
a) Distinguish between Tariff and Non-tariff barriers.
b) - Explain in brief various WTO agreements.
¢) :Discuss the need for conducting overseas market research,

4. Answer any two of the following : (15)
a) Write a note on India’s foreign trade policy 2015-20.
b)  Briefly explain Deemed Exports.
¢) What are EOUs? Discuss the benefits given to EOUs.

5. Answer any two of the following : (15)
a)\ Discuss IRMAC scheme given to exporters.
b) Explain the assistance provided by ITPO to Indian exporters.
c) Briefly explain the Duty drawback scheme.
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raper / Subject Code: 23116 / Export Marketing Paper - 1

6. Write short notes of the followihg (Any Four) : (20)
a)  Problems of India’s export sector.

b)Y  Types of Tariff barriers,

¢) EHTPs

d)  Commodity Boards

¢)  Importance of export marketing from the view point of a nation.

f)  Negative list of exports.
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N.B.

[3‘ Hours] [Total Marks: 100]

=

(1) All questions are compulsory. Questions 2 to 6 have an internal choice
(2) Figures to the right indicate full marks.

(3) Use of simple calculators is allowed.

(4)Working notes should form part of your answer.

1(A) State whether following statemeénts are True or False (Any Ten) 10)

1.

2.
3.
4.

8.
9.

A Debt Equity Ratio after buyback of shares should be maintained up to 2:1 as per
legal requirement,.

Reduction in Liability is debited to Capital Reduction A/c.

Investment Accounting is governed by AS 13.

In personal investment accounting, dividend received on shares for pre-acquisition
period is treated as revenue gain.

Goodwill is classified as Fixed Asset under the Companies Act

As per CSR policy it is mandatory for certain companies to spend 5% of their average
net profit of three immediately preceding financial years.

Law has a legal binding but Ethics do not have a binding nature.

Consolidation of shares results in profit for a company.

Interest Paid is disclosed under Finance Cost in Profit and Loss A/c.

10. For a company, dividend paid is an expense.
11. Capital Reduction requires court's sanction.
12. Public deposit is secured loan.

1(B) Rewrite the following sentences choosing the correct answer (Attempt any 10) (10)

1.

54154

Bills receivable is shown under in Balance Sheet.
(Trade Receivables/ Other Current Assets)

Internal reconstruction is done as per section of Companies Act
(319/ 66)

Buyback of equity shares can be of paid up shares.

(Fully/ Fully and Partly both)

Ex-interest price includes only.

(Interest/ Cost)
The term ‘Ethics’ comes from word.
(Greek/ Latin)
Accounting Standard Board is constituted by
(ICWAVL/ ICA])
The premium received on sale of Rights is credited to Alc,
(Investment/Profit & Loss)
A company cannot buy back more than of its own funds.
(10% / 25%)
Reconstruction expenses are to Capital Reduction A/c.
(Debited/ Credited)
1 |
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10. The final accounts of companies are to be prepared in accordance with the provisions

of of Companies Act 2013,
(Schedule IIT / Schedule V)
11. Arrears of preference dividend is shown under Liabilities.
(Current/ Contingent)
12, Current investments are valued at cost or market value whichever is
(More/ Lower)
2. The following is the Balance Sheet of Mayuresh Ltd. as on 31-03-2018:
Liabilities 3 Assets .- yig 3.
Share Capital; Fixed Assets:
8,00,000 Equity Shares of 210 Land and Buildings 40,00,000
each fully paid ~ 80,00,000 | Plant & Machinery 36,00,000
Reserves and Surplus: Furniture and Fixtures 22,00,000
Security Premium 20,00,000 | Investments 15,00,000
General Reserves 10,00,000 | Current Assets, Loans &
Profit and Loss Account 50,00,000 | Advances
Secured Loan: Stock 20,00,000
10% Debentures 20,00,000 | Debtors 40,00,000
Unsecured Loans 20,00,000 | Bills Receivables 10,00,000
Current Liabilities & Bank 47,00,000
Provisions:
Creditors 20,00,000
Bills Payable 10,00,000
Total | 2,30,00,000 Total | 2,30,00,000

The Company decides to buy back the maximum number of equity shares as may be
permitted by law at a price of %20 per share, being the current market price. Investments are
sold out at a loss 0f 20%.

You are required to pass Jjournal entries (without narration) in the books of Mayuresh Ltd
assuming that buy back is carried out. Also prepare Notes to Accounts with respect to
Reserves and Surplus and Cash and Cash equivalent as on 31% March 2018.

(Do not prepare Balance Sheet) (15)
OR

2. The summarized Balance Sheet of Shalaka Ltd. as on 31-03-2018 is as follows:
Particulars 4

Share Capital; ;

6,00,000 Equity shares of 210 each fully paid 60,00,000
Securities Premium ; 4,00,000
Profit & Loss Account 20,00,000
13% Debentures _ 28,00,000
Creditors 10.00,000
Total 1,22,00,000
Fixed Assets 67,00,000
Investments . 25,00,000
Current Assets 30.00.000
Total 1,22,00,000
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Ascertain the maximum number of equity shares the company can buy back at the
maximum possible price under the law as on 31* March 2018.

Assuming the i)uyback is actually carried out, record the journal entries (without narration)
in the books of Shalaka Ltd. Also prepare Notes to Accounts with respect to Share Capital
and Reserves and Surplus as on 31* March 2018. (Do not prepare Balance Sheet)  (15)

3. The following is the trial balance of Rahul Ltd.as on March 31, 2018

Particulars Debit (3) Credit (3)
Stock 1,25,000 =
Purchases and Sales 3,45,000 4,00,000
Wages 50,000 =
Discount 7,000 5,000
Salaries 7,500 -
Rent 4,950 -
General Expenses 17,050 -
Surplus Account - 15,030
Interim Dividend Paid 9,000 -
Equity Share Capital : 10,000 Shares of 310 each - 1,00,000
Debtors and Creditors : 37,500 17,500
Machinery 29,000 -
Cash at Bank 16,200 -
General Reserve - 1,15,500 {
Bad Debts 4,830 -
Total 6,53,030 6,53,030

Additional information:

a) Stock on 31® March, 2018 is valued at Z3,00,000

b) Purchases include ¥5,000 machinery purchased on 1-10-2017.

¢) On 31-3-2018 good worth 30,000 were sold to a customer. He has taken away the
goods. But no entry is recorded. -

d) Directors proposed 10% final dividend (excluding the interim dividend already paid).

e) Provide Income Tax for the year ¥30,000.

f) Transfer 320,000 to General Reserve.

Prepare Statement of Profit and Loss and Balance Sheet in vertical format along with

notes to Accounts after taking into account the above information. 15)

OR

3A. The authorized share capital of a Tarzan Ltd. is ¥1,00,00,000 divided into 50,000 8%
preference shares of ¥100 each and 5,00,000 equity shares of 10 each. 50% of each class of
shares were-issued to the public fully called up. 20 per share on 1,000 8% preference shares
and %2 per share on 20,000 equity shares was not received. '

The Company’s reserves and surplus was as under:

General Reserve (beginning) stood at ¥30,00,000, Profit & Loss Account (beginning) at
¥10,00,000. Profit made during the year was 360,00,000. Interim Dividend paid ¥28,00,000.
Transfer made to General Reserve was %20,00,000. Profit & Loss (year-end) stood at

322,00,000. ,

Prepare the Note on Share Capital and Reserve and Surplus forming part of the Balance Sheet

of the Company. : 10)
54154 3
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3B.. Z Ltd. has opening balance of %20,00,000 in its Machinery Account (WDV).
Accumulated depreciation at the beginning was ¥12,00,000. There was an addition of -
Machinery of X10,00,000 at the beginning of the year, while Machinery costing Z5,00,000
was sold at the end of the year. Accumulated depreclatlon on Machinery sold at the end of the

year was %2,62,500
Prepare a note on Fixed Assets forming part of the balance sheet of the company if the
depreciation is charged for the year @ 15% on original cost. 5)

4. Mr. Shivom gives you his following details of investment for the year in 12 % Debentures

of 100 each in BH Ltd.
Date Particulars Numbers of Terms
Debentures

01/04/2017 | Balance 2,000 Cost Price ¥2,02,000
30/06/2017 | Purchased’ 1,000 ¥103 Cum-Interest
01/09/2017 | Purchased 1.000 98 Ex-Interest
01/11/2017 | Sold 1,200 %102 Cum-Interest
31/12/2017 | Sold 200 2104 Ex-Interest
01/02/2018 | Purchased 600 297 Cum —Interest
01/03/2018 | Sold 400 %105 Cum-Interest

Interest is payable half yearly on 30" September and 31% March every year. The Books of
accounts are closed on 31% March every year.

Prepare 12% Debenture Account in the books of Mr. Shivom for the year ended on 31%
March, 2018. (15)

OR

4. Mr. Jinen had 10,000 equity shares of AP Ltd. on 1* Aprii, 2017. The face value of the
share is 310 each but book value on 1% April, 2017 was %15 per share.

On 1* May, 2017 he purchased another 2,000 equity shares. in AP Ltd., at having market
price of Y13 each.

On 1* June, 2017, he purchased additional 3,000 equity shares of the same company at a
market price of X5 higher than face value.

On 1* July, 2017 he sold 3,000 equity shares at Z25 per share.

On 1% October, 2017 the directors of AP Ltd. had declared and issued bonus shares at the
rate of one share for every four shares held as on that date.

On 1* December, 2017 he purchased 2,000 equity shares of AP Ltd. when market price was
20.

On 1* January, 2018, he purchased 3000 right shares in AP Ltd at 18 per share.

On 1% February, 2018 he sold 2,500 equity shares for 325 per share.

Market Price of shares on 31% March, 2018 was %12 per share.

Prepare Equity Shares A/c in Mr. Jinen’s books for the year ended 31% March, 2018  (15)
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5. The Following is the Balance Sheet of Aarman Ltd. as on 31% March 2018

Liabilities T Assets - L4
10% Preference Shares of Goodwill 2,00,000
T10each 5,00,000 | Land & Building 10,00,000
Equity shares of 10 each 10,00,000 | Investments 5,00,000
10% Debentures 2,00,000 | Stock 4,00,000
Creditors 2,00,000 | P& L A/c 4,00,000
Other Liabilities 7,00,000 | Preliminary expenses 1,00,000
Total | 26,00,000 Total 26,00,000

The scheme of Reconstruction as approved by the court was as under:
1. Each existing equity share will be written down from %10 to %6 fully paid up.
2. Each 10% Preference Share is to be written down from 10 to T 8 fully pald up. These
Preference shares are to be converted into 12% Preference Shares of %2 each and
remaining into Equity shares of % 6 fully paid up.
. 10% Debenture holders agree to waive 20% of their claims.
4. Assets are revalued as follows:
Land & Building ¥12,00,000.
Stock reduced by 20%
5. Creditors are settled as follows:
a. 30% immediate payment
b. 20% cancelled
¢. 50% paid by issue of 11% debentures
6. All fictitious and Intangible assets are to be written off.
7. 10,000 Equity Shares of ¥6 each were issued to public for cash, which were fully
subscribed
You are required:
Prepare Capital Reduction A/c and show the extract of Asset forming part of balance sheet

W

along with notes to accounts of Aarman Ltd after reconstruction. (15)
OR
5. The Following is the Balance Sheet of Godfrey Ltd.as on 31% March 2018
Liabilities k4 Assets 3
5000, 6% Preference Shares of Goodwill 80,000
%100 each fully paid up 5,00,000 | Patents and Trade Marks 20,000
40,000 Equity shares of ¥10 each Building 2,15,000
fully paid up 4,00,000 | Plant & Machinery 2,55,000
Capital Reserve 25,000 | Furniture 60,000
5% Debentures of 100 each 2,00,000 | Stock 90,000
Accrued Interest on Debentures 30,000 | Debtors 75,000
Creditors 1,55,000 | Cash at Bank 12,500
Cash in hand 2,500
Profit & Loss A/c 4,00,000
Preliminary Expenses 1,00,000
Total 13,10,000 Total 13,10,000

Note: The Preference Dividend is in arrears for 3 years
It was decided to reconstruct the Company for which the following scheme was approved by
the Court.
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1. The assets are to be revalued as follows:
Building 32,50,000
Plant & Machinery  ¥2,25,000
Furniture & Fixtures 55,000
Stock ¥80,000
Debtors 70,000
2. Intangible and fictitious assets are to be written of completely.
3. The Preference Shares shall be converted into 7% Preference Share of Z50 each, number of
shares being the same.
4. The Equity Shares shall be reduced to Z3 each.
5. The 5% Debentures shall be converted into equal number of 6% Debentures of 75 each.
6. The Debenture holders also agreed to waive 50% of the accrued interest
7. Arrears of Preference Dividend to be cancelled.
8. The Creditors agreed to waive 30% of their claims and to accept Equity Shares for 30,000
in part settlement of their renewed claims.

Draft journal entries (without narration) and give an extract of Balance Sheet to show

Shareholders Funds. 15)
6A. What do you mean by Ethics? Describe its features and scope. 10)
B. Give disclosure of “Non-Current Investments” of a company as per Schedule III (10)
OR
6. Write Short Notes on the following (Any 4) 20)
1. Factors affecting Ethical Behaviour
2. Disclosure of Share Capital in Company Balance Sheet
3. Methods of Internal Reconstruction
4, Benefits of Buy Back
5. Accounting Standard 13
6. Contingent Liabilities _
XXXXXXXXXXXXXXXXXXXXX
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Q.1

54871

Time 3 hours Total Markg‘: 160

1. All guestions are compulsory.

2. Figures to the right indicate full marks.

3. Use of non-programmable scientific calculator is allowed.

4.
o

i)
i)
ii)
v)
v)
vi)
vii)
Viii)

B.

i)

Graph papers will be supplied on request.

Answer whether following statements are True or False.

The replacement theory is concerned with replacement of assets
when ‘they stop working completely.

When time value of money is considered, costs needs to be
discounted.

For each basic variables in a given solution by simplex method,
whether optimum or not, the value of 4 (cz) is always zero.
The feasible region of a linear programming problem is always a
convex set.

It is necessary to covert the equality constraints into inequality
constraints for writing the dual of a linear programming problem.
An unbalanced transportation problem must be converted into
bélanced problem, before solving it.

The initial solution to any transportation problem by the least cost
method is always optimum solution

The cost elements in the dummy row or column shall always be
taken equal to zero.

Select most appropriate choice for the following: ¥
Decision variables are

a) controllable b) uncontrollable
C) parameters d) none of these
Operations Research analyst do not
" a) recommend decision and accent b) predict future
feedback
¢) collect relevant data d) none of
these
Page 1 of6
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i) The group replacement policy is suitable. for the identical low cost
items which are likely to

a) fail over a period of time. b) fail suddenly
c) fail completely and suddenly d) none of these
iv)  Which of the following is incorrect with reference to transportation
problem?

a) MODI method is used to test optimality of a solution.

b) A closed path will consist of even number of corner cells.

c) Existence of multiple opfimal solutions is indicated if there are
multiple zero values for Ui and V, ,

d) none of these.

v)  One disadvantage of using North-West-Corner Rule to find initial
solution to a transportation problem is that

a) it is complicated to use.

b) it does not take into account cost of transportation
c) it always leads to a degenerate solution

d) all of these.

vi)  The presence of artificial variable in the basic variable column of
- optimal simplex tabie, indicates that the solution is -

a) unbounded . b) degenerate
c) infeasible - ® d) none of these

i) If a redundant constraint is removed from a linear programming
problem then t"ie feasibie

region
a) will become larger b) will become smaller
c) will remain same d) none of these
54871 Page 2 of 6
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Paper / Subject Code: 23129 / Elements of Oﬁ'ferational Research Paper—I

Answer briefly in one or two sentences:

i) What is a feasible region with reference®to L.P.P.?

i) Define slack variable in L.P.P,

i) What is the use of dummy row or column in transportation problem?

iv)  What is meant by gradual failure?

V) What is meant by the rim condition with reference to transportation

problem?

The following table provides transpor‘[atlon costs per unlt of a product from 20

&

four origins to five destinations. The capacities of the four orzgms ABC &

and D are 55,45,30 and 50 units respectively while the reqmrements at the

five destinations IILIIILIV and V are 40,20,50,30 and 40 units respectively.

T Destinations
Origins
N NN VARY
A 1214191519
B &-=121 6.4 6.} 7
C [~1- 2|4 7 ‘ 7
D 101569 |1

Use Vogel's Approximation Method to find initial solution and determine the
optimum cost of transportation. Is the solution unique? If not then find the

alternate solution also.

160 hours. The account per hour can be bi

to each project is given below:

OR
A leading firm has 3 auditors. Each auditor can work up to 160 hours during
the next month during which three projects must be completed. Project 1
will take 130 hours, project 2 will take 140 hours and project 3 will take

lied for assigning each auditor

.| Project bill amount per hour in Rs.
Auditor = . ;
Project-1 Project-2 | Project-3
1 1000 1300 1700
2 1200 1100 1000
3 1400 1200 1300

Formulate this as a transportation problem and solve it to find the maximum
total billing amount during the next month.
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A. A company produces two products A and B using two raw materials R; and 90
R The profit per unit on prodin::t A'is Rs. 28 and on product B is Rs. 30. 3
One unit of product A requires 6 units of R, and 3 units of R;. One unit of
product B requires 4 units of Ry and 5 units of R, The two raw materials - &
Ry and R; are available 18 unit and 30 units per day. Besides raw material, B
each unit of product A requires 3 hours of labor time and each .unit of_ ‘
product B requires 1 hour of labor time. In all total 8 hours of_'iabor'"is

available daily. Formulate the above problem as linear programming problem
and solve it by simplex method. '
OR
B. 1) A firm is engaged in breeding pigs. The pigs are given two 15
supplementary foods A & B containing three nutrients namely Ny, N,
and Na. The contents of nutrients in the foods A and B per unit and
their requirement is as follows:

Nutrients | Nutrient contents per unit in foods: Minimum requirement

A B | of Nutrients for pigs.
Ny 36 | 6 108

’ N, ! 3 _1— 12 36 B
| N | 2 10 100

If food A and B cost Rs. 20 and Rs. 40 per unit respectively. Formulate

this as linear programming problem and solve it by graphical method.
i) Write the dual of the following linear programming problem: 5
Maximize Z=4X1 +2X, +3X5
subject to X, + oX;- 3X; = 80,
-2Xi+ X, +4X; < 40,
X; <5X, +3X, =10,
X0, X0, X; >0

Attempt ANY TWO of the following:
A A computer has 5000 electronic tubes. The failure rate is given below: 10

Year 1 2 3 4 5
] Probability of

l@ilure:

If the tubes are to be group replaced the cost per tube is Rs. 2. The cost

0.11025[0350.2]/0.1

of individual replacement is Rs. 10 per tube. Find the optimum
replacement policy for the tubes.
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The initial cost of the machine is Rs. 40600 and running cost increase

with the age of the machine is given below: = .-

Year 1 2 3 4 5 6 74‘ ok
Running cost(Rs.) | 6000 | 7000 | 9000 | 11000 | 14000 | 17000 | 20000 E 2T

It is given that money is worth 10% per year and the scrap value is nil.
Find the optimum period of replacement for the machine.,

For the following data find the optimum period of replacement: 10
Initial cost of the machine 60000

Year 1 2 3 4 5 6 7 8
Operating :

t 10000 | 12000 | 14000 | 16000 | 20000 | 24000 28000 | 32000
cost: _ .
Scrap -

| 30000 | 15000 | 7500 | 3750 | 2000 2000 | 2000 | 2000
value:

Attempt ANY FOUR of the following
Explain the following with reference to Operations Research: 5
(i) Deterministic Model (i) Probabilistic Madel

Explain briefly any five advantages of Operations Research. 5

[0

Explain unbounded solution with reference to Linear Programming
Problem. How to identify this in simplex method.

Write the Linear Programming Problem corresponding to initial simple); 5
table for a minimization problem given below: ;

: G S13(C|0oM|M
Basis |- -
Solution X %0 s sl ala
Ci Xi b| 1 2 1 2 1 2
0|S; 12 21411]01|0
M| A 10
M| A, 10 512]10]-1]0
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E  Explain in brief: Degeneracy in the solution of.a Transportation Problem"
and how to remove it?

F The table below has been taken from the solution procedure of a
transportation problem.

Dy | D2 | Ds | Dy | Supply.
S, 151014 15| 10
S, 161817 12| 25
S, 1411211517 20
| Demand | 25|10 | 15| 5 '

1

The allocations are S; — D, = 10, S; - D; =20, S, —» Dy = 5
S; = Dy =5, S3 — D, = 10, S3—=D3=5
Answer the following questions with reasons:
i) Is the above solution feasible?
ii) Is the above solution is optimum?

i) Is the above solution is unigue?
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v ln;m ‘\j ] Y U 0 W ! | 'Iﬂ.ﬁ ' //__._‘ "
' !
[Time: Three Hours] [ Marks: 100]

Please check whether you have gofthe right question paper.
N.B: 1. All questions are compulsory.

2. Figures to the right indicate full marks.

Q.1 A) Select the most appropriate answer {rom the options given below: (any ten) 10
l. role involves monitoring activities to ensure they are being accomplished as planned
and correcting any significant deviation.

a) Decisional b) Conceptual - ° ’
¢) Controlling d) Leading
2. A manager with skills has the mental ability to analyze and diagnose ¢ mplex
situations.
a) technical by informational
¢) decisional d) conceptual
3. The science that seeks to measure, explain and sometimes change the behaviour of humans and
animals is called
a) Sociology b) Intuition
¢) Sccial Psychology d) Psychology
4. The emotional or feeling segment of an attitude is called its component
a) affective " b) cognitive
c) behavioural d)  motivational
Sa describe a positive feeling about a Job resulting from an evaluation ofjis
characteristics.
a) Job satisfaction b) rganizational commitment
¢) Jobengagement d) Job Invelvement
6. refers to employee’s beliefs in the degree to which they influence their work
environment. their competence. the meaninafilnsee Af ki ot oo eirperceived autsaamy.
a) Psychological empowerment b} Organizational commitment
¢) Jobengagement d) Jobinvolvement
7. Under manager’s assume employees can view work as being as natural as rest.
a) Theory X < b) Theory Y
¢) Maslow’s theory d) Herzberg's theory
8. The goal setting theory says that specific and difficult goals with feedback, lead to o
a) higher performance b) higher satisfactory
¢) higher commitment d) higher payment
9. The three elements in 'm_otivation are intensity, direction and
a) persistence. b) performance
c) feedback .. - . d) intensity
i0. is defined asthe ability to influence a group toward the achievement of a vision or set
of goals, :
a) Motivation - b) Business
¢) Emotional Maturity d) Leadership
. A core cornponcnt-df'Emtyti011z1] intelligence is i
a) empathy =~ b) sympathy
¢) emaotional stability d) friendliness
54773 Page 1 0of 6
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was the behavioral dimension of leadership identified by the Ohio state studiss:
a) Consideration T b) - Employer oriented
¢) Concemn for people * d) Production oriented
State whether the following statements are true or false: (any ten) 10
Leading is a process that includes defining goals, establishing strategy and developing plans to

coordinate activities.

When a manager plays the role ofa controiler he takes corrective action when the organization
faces unexpected disturbances.

A manager who-initiates and overseas new projects is performing the role of a leader.

The behavioral component of an attitude is a description of or belief in the way things are.

[n organizational commitment an employee identifies with a particular organization and its
goals and wishes to remain a member.

Perceived Organizational Support is the individual’s involvement with, satisfaction with and
enthusiasm for the work she does,

In McClellands theory, need for power is the drive to excel, to achieve in relation to a set of
standards (o strive to succeed.

According to Herzberg’s theory when hygiene factors are adequate, people will be satisfied.
Procedural justice is an overall perception of what is fair in the workplace.

Agreeableness has been found to be the most important trait of an effective leader.

Vision is a long-term strategy for attaining a goal or goals.

A boss is a senior employee who sponsors and supports a less experienced employee called a
protegé., :

Answer any two of‘the following: 15
Define the terms manager and organization. Discuss the various managerial skills that

differentiate effective from ineffective managers.

Discuss how nowadays managers have to deal with workplace diversity and cope in a world of
temnporarinece S e

How do organizations help their employees achieve work-life balance in a bid to motivate
them? :

Answer any two of the following: 15
Define attitude. Discuss job involvement & organizational commitment as major job attitudes,
Define job satisfaction. Examine the responses of employees to job dissatisfaction.

Explain hOWjob__.srjl'iﬁfact'ion"is related to organizational citizenship behaviour and employee
turnover. - :

(O]

Answer any two of the following: - -

Examine.Hcrzb_e_rg__'.’s two- factor theory of motivation.

Explain ineqL‘ljzty\ﬁa‘\/rld’:qu-i\s/‘;(:qSS',thé six choices that employees make to resolve inequity.
Discuss in detail the Expectancy theory of motivation.

Answer any two.of the following : 15
Discuss Fred Fiedler’s contingency model of leadership.

How can people be trained to become charismatic leaders? What is the dark side of charismatic
feaders? _ '

Write a detailed note on transformational leadership.
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Q.6 Write short notes on (Any Fou r)
a) Mintzberg’s managerial roles
b) Disciplines that contribute to OB field
¢) Components of attitudes
d) Types of organizational justice
€) Michigan state studies of leadership
f) Importance of mentorship
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